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Revision Sheet for Chapters 2, 7, 14, 8 and 5

Objectives:

® To review the material covered in chapter 2, 7, 14, 8 and 5.

Chapter 2: Expressions

1) Simplify:

f"'f"“\w
39E 4D 20K 4b)+ 7 5(a +2b)E 3(2a + b) 4ab)+ 3a + 6b(= 8ab)

(15y2f 13 I— 16y?2 (2y2z5+_ 9%— '_2_%% 112y} 2x(2x — 4) + 5(3%% — 4x)
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2) Write an expression for the perimeter and the :g::aﬁ of the shape below.
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3) Write an expression for the change you receive from paying 530 after purchasing 4
books costing “d” dollarseach. .

4) Write using algebra: | think of a number “x”, add 5 to it then halve it.

x+5 o A (xx5)
oL o <

5) Factorize:

6kg — 3lg + mg 10ab — 2ac + 5da 12y% + 8y

9(6x-3Llam) | alop-20x5d) | Hy(34x2)

2nr? + 2mr 20x* + 10x3 — 4x? 28axy + 7abx — 14xca

-Z'Kf"(r""‘:"j ZIIGD:CJ-%‘SW_-Z) g B e (U,.\.B.n,,\o.q:lcj

24k2m?n — 48k?m?*n? 24p*q® — 8p*q — 10p%q* @— 8x3y & 10x3y?

¥ (1-20)  [20% (2p'g-4p-51) | —€y - )
,_2133(’53 +U1)

(Hint: simplify first)
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6) fa=4,b=-3,c=-2andd =5, find the value of:

Y

—a—b=-c—d 2b - 3c+ 3d 3a(b — 2¢)
0 = L8)=(-2)-2 2(3)-3(-2)+3(5) 3){“(_3 ) 2(*21)
-4+3+2 -5 sl el B W,

N\ N =
.-.‘.-\-2"‘5_ Zero .‘_‘.6 _—_@ ) 2
[ ] 94 & &
\::':5 = -U[ \
% 7b — 3c 4c3 — d - 2bh? )
) s 4(-2)y -5 -2(3)
Wx-3x5 j(—-%-—-%_(_:zl L—\[—*S\—-S.-ZCC‘)
= 2(5) +M 37518
S - Lo =9 we b - =B %
F ‘i F \\D.:‘L". -'?:"-'l'—\g=|‘55-i
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Chapter 7: Equations, formulae and inequalities

1) Solve.
4t + 1.5 =135 3a—10 = —25
-\ .5 0 +io
H‘t::l.g. i 3{1\:—‘\5' {3\:-*':3
B 5x =65 7-2x=21
S S AN, TAX
= 21 +2Y
[ =13 B,
2 K==
_ gtﬁf%
el s X Z=4x{
Bat Ay &
Ky g .aitud -
X =24 [ x=24)
x=12
8x-15=75{{—6 7(p+2) =5(p +6)
S 19 +\y= P30
chﬁﬁl‘jz—é "5? 7l o
+i15 *\5 2?+\L{—3Cn
-w -y

’_::{3_—_|_2_5__ -——-D'S ?: s S

4x+2(x+2)— x=2x+9

9(2x —4)+ 20=10x+8

Y @ @H{ngﬁﬁ \8x 3¢ 2D 1c;:~:+3’
' o el 49 |2 >x — I{.Frlg«i-‘r
_2§+L{ _% -\o X
3t = = ST *"5 >
: 2224 =H{x=3)
3 o1t il
x X+2 _ _4 4% = %=1n
& ,3’ c /F -3
""‘12 .-"3 e
,z/x(.lﬁ:-ﬂ,——,?rz
ok = :{--* > =\
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2) For the below questions, first write an equation, then solve it.

(i) The sum of two consecutive whole numbers is 45. What are the numbers?

%\M&

X x +1
X X4 =15 ]_}ILH 20 55
Rt e 2 L{g 'ﬁt} ‘2_:‘:_:-—-—"$x"
.2.'):'1'1'1""*_1 2. = e =D 22 and .’ZSL

(ii) Find the length of a rectangle, if the width is 4.1 cm and the perimeter is 22.4 cm.
ki ign il

e
2oe 3/2: 22~L‘[ H.\ Y\ O
- . -3 e -
= -

2x= 4.2
- 2

2.

[=+1cm |

(iii) Tia is 4 years younger than her brother Omar. The sum of their ages is 34. What are
their ages?

Jeapalr
x &+ x-4 =34 xX

2x-u=3"

t™ 4

C -':..__g_g_ O yyaor \ 5 ]\ﬂ
2 oid T 13, 15
x = \94 —
(iv) The perimeter of thewl triangle below is 63. What is the length of each

side? E’_quo.l S‘CCLES ?

@J&)@@ 3
Ga |

3"
_6&=;(_Q_
6 4
a= 1O

P — - ‘l
—Theehire e SCCLEJ e 2510 %)\ e.ﬁ-g_)g = 40 \ "-:f
! —
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3) Using s = ut + % at?, find “u”if s=27,t=-3,a=2.

gt};—5u+%?wZRﬁﬁf

2 F= <~BW %

-9

- — <2 U e
157230 —ofu=-C)

K . .
4) Use the formulam = % to convert 32 km into miles.

H
m= 5 x 32
=

M=% x4

=(20 wies |

5) Rearrange the formula to make the letter in brackets the subject.

x—4=y (x) g=2m+c (m) ¢ =5%(a+b) (b)
¥4 +4 =S g 5 5
> o . E=a
‘I-B*HE #%r— g 'gf“jﬁ*b
[ - | =-a=hi
L
ﬂ]x eexe @ | *id © S=im-g  (m)
f¥d-ce T 5f = AL
M avp Y A
o= iCE. TS .
v Y
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6) Draw a function machine to show how to find "v" starting with "t", using the formula

v =u+ at.

7) Represent these inequalities on a number line.

a. x>7 FrT T I TP L ET I |
-10-9 -8 -7 -6 -5 -4 -3 -2 -1 0 2 3 45 6 7 8 910

=~

*—— 0

b. -3<x<5 1T 1 17 011 1T 1Y
-10-9 -8 -T -6 -5 -4 -3 -2 -1 0O

o

c. What is the largest integer that "x" could be in the inequality x < 10.

[

d. Write down all the integers that satisfy the inequality =2 < x <9
L I, SN

"\JOJ ‘;'?I?'jquj G;qjgﬁf\d Ci .
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Chapter 14: Function and graphs

1) Complete the mapping diagrams: i
il 2
o 5

2 f a 0
E \ ]I_l : Function:
| AN |- - - . | g _j q
4] -1 : ~
fn n-10 3
" ]
2) For the graph below, do the following: y & L_;}
a. List the set of coordinates shown. ( 2 _
(-2,-%) (0,-3) (2, ﬂ = :;4—2 Meae fore
(-9 “ﬂ C\ ) 22y (- rwolhpleer 0
( o, d3 2
b. What rule has been used for the mapping? G, =\ S
X o f..'.l, v
c. Draw a function machine that will produce this mapping.
Y
X —HXLP—> > j "
| x
Y R R TR
1] X
+
x5
x :-||
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3) For theinputs —2,—1,0, 1, 2, draw a graph of the mapping of the x-coordinate eo
the y-coordinate using: x = 3x — 1. Join the five points with a straight line.

% E 1Y

- @;{_@ -\ -

“RNWaO~N@OO
|
L
-
<
v
\
-
|
2

X
-t -
-1n-9-a-?-5-5«4-3-2-1:;f1 2345678910 ;,2}‘3”\ ]

-

4) For the equations below, write down the value of:
a) the gradient, m
b) the Y-intercept, ¢
i y=3x—4 (m=3 ,c=-Y )

i, y=7-2x (m=-2 ,c= % )

i ymear—d  (me=) ,oe=

iv. y=2x (m=A ,c= O )
3

2 — —9 =..3- =-"“:l
V. ¥y X (m 3 | )

4
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5) Sort these lines into two groups shown in the table:

y=4x—5 y=7—x
e 2
y=-2x+3 s g
3
y=-1+7x
Line sloping upwards Line sloping downwards
D: le__g & = e K
S s e 3
3, = x )\ 4= 2K =
5:‘- R Y &

6) Which of these points lie on the line y = 5 — 4x, show your work:

(1,1) (-2, 13) (0, 4) (3, =7) (4,21) (-3, 17)
J-im g S-S0 e S AER e S UG ) - s

s -5-12 =6-16 3]
G- -54+% \F i =5+12
o J =5 . g1 i

Page 10 of 14



ﬁ E ’&ﬂﬂ}.ﬂ f‘q” s ary le; >§<
g MEJT%\JFI/*; ﬂ:ﬁ.’ﬁ SO = 1 £0° WJ,,L@.LL] c“a.k

.:a.-:, €5,
Chapter 8: Geometry

1) Find the missing angles, show all your work and give reasons for your answers.

. &

K 4 S

as . il 55
f B
s ™
! ! 11{}@
= NGT P~ f= \g8-\G = 30
Reason: A \lemad® ardes  Reason:_f\froude Reason:_SupPlartara®) Qegles
> M\:}}ﬁ on o Pyoadny \ine
d= 188 -45= 135" f=_¢ = 55 g=_\\&

Reason: B\ied wi gﬂ&lg!c‘} Reason: W%{Lq\\mj Reason: z of
Q@Q@ (‘li%"_lg[ 3 ﬂ?."LE.'-

Swoigey \ine G angle(d) h=_a =\
Reasun. _Cocces ?nn.é.itﬁ
ang\e;

SV J&.‘:"‘“jﬁl‘“&
WL O i ade)
ug o \§C

/ / &N

124°

77 i

b=_|§5-12Y4 = 5¢° d=_12°

Reason:_Allied) gﬁﬂjq Reason:_(\\saake angles
e=_50

Reason:_{f\iecnale arales
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2) For the shapes below, find the missing angles, show all your work.

e 130°
_105° W 50° 60°

a=_105"-65= 4O b= 34~ (138x58+{5) = 120°

a= ?:C;'\r}_"“ = é'_"l.
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Chapter 5: Area, perimeter and volume

1) Fill in the empty boxes:

(O]

lradius L_an: cengeLl r-;t:cﬁ]

sector segment‘ | diameter ‘

2) Find the circumference of the circles below:

d;ﬁx:?
= L crm C'_'TL’(A
T }é -3.1Ux |2
CrilX =37.6%
:34‘-{!1{: & it
— Bo0.24 om
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B f
3) Find the perimeter of the shapes below

- #
A=2.5 x2 e

o

J B
z 5 e sdad 3

cC=7JCx20

- ':621-3".7-
)_fzn&rc."-t 5
C-.tﬂ.rﬁg . _@i‘-
2.5cm = 5.3 5
Lo Wl a circle = €2 - stdwl > Syde 2 a 5ida 3 & Side Y
=\5.1 > 2

.85 = 3\« 3o +* 20+ 30
= - C _
?ﬂim&q: 2.86 0 & :‘._.'2"36 PREB ,a‘\'ﬂ'lﬂ, WA

4) Find the area of the parallelograms below

B cmi pi = \b x \Y\
| = 6.2}
6 cm ! 2
I = U\ 2 G
Pq: \b xn 5
= "'-\:.{-—(; = X
5) Complete the table for Parallelograms:
e 1- “Base (m) | Height (m) Area (m?)
1 ;
3.2 h= 25632 25.6
= &
2 LY
b=\4\3 =9 9 191.7
= 2\.3
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